L’ Arrondissement (C)
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Arrondissez chaque nombre ci-dessous a la dizaine pres.

41 48

51 18

37 578
997 591
984 733
8.120 2.196
7.899 4.324
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L’ Arrondissement (C) Solutions
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5.679
5.680

4.817
4.820

2.993
2.990

Arrondissez chaque nombre ci-dessous a la dizaine pres.

41 48

40 50

51 18

50 20

37 578
40 580
997 591
1.000 590
984 733
980 730
8.120 2.196
8.120 2.200
7.899 4.324
7.900 4.320
7.327 76.102
7.330 76.100

15
20

40
40

497
500

222
220

664
660

2.113
2.110

9.103
9.100

12.466
12.4770
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